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LIBRARY AND INFORMATION SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Who is the chairman of National Knowledge Commission ?
(A) Dr. Sukhadeo Thorat (B) Dr. M.S. Swaminathan
(C) Dr. Bhalchandra Mungekar (D) Sam Pitroda

2. Who has not changed its name ?
(A) Library Association, UK (B) ALA
(C) ASLIB (D) IFLA

3.  Which of the following is not correct ?

(A) Maslow’s need analysis is useful for understanding motivation of employees.
B) Theory Z is the contribution of Japenese stylé of Management.
Money is the most powerful motivating agent:

Mission of an organisation is essentially abstract.

4. NISCAIRE is a Part of :

(A) DST (B) ISRO
(C) DSIR (D) CSIR
5.  Use of Microfilming is‘considerably reduced due to :

(A) Problems of Preservation of microfilms.
B) Needfor use microfilm reader.
Availability of better Technology in the form of digitization.

High cost involved in it.

64, Opaque paper is a :
(A) Ultra-white paper (B) Ultra-white thin paper
(C) Transparent paper (D) Non-Transparent paper

7. Which of the following is a public domain database :
(A) INIS (B) AGRIS
(C) Chemical Abstracts (D) MEDLINE
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3. fdasRw o 1&g
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6. TR ShTITST BT &

(A) ITeRI-AES HFTS (B) 3AcgI-ATEe Yaal TSI
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7. Trafafed § & @ defas SHa Seed ¢
(A) g TT T TH (B) TUSH 3R 3T TH
(C) <hiHehd TaEgaRd (D) W®eard (MEDLINE)

J—5908 3 P.T.O.



8.  In which Library Service barcode technology is used :
(A) Stock verification (B) Library Security
(C) Circulation (D) Reference Service

9.  One of the following journal is published in UK :
(A) Library Quarterly (B) Program
(C) Libri (D) Herald of Library Science

10. ‘Fair use’ is a term most relevant to :

(A) Intellectual Property Rights
(B) Books borrowed for home reading
(C) Copy right
(D) Use of reference books
11. Which of the following does not fall into the category.ofipre-cordinate indexing :
(A) Chain indexing (B) Uniform indexing
(C©) LCSH (D) Sear’s List of Subject Headings

12. Dublin core is :
(A) A set of core activities of a National library
(B) Collection of metadata elements
(C) Network for the city of Dublin
(D) Revised version of MARC

13. ‘Best is the enemy of the Good" is said by :
(A) Drury (B) Urquart
(C) Foskett (D) Shera

14. Which of the following is not associated with communication system ?
(A) Receiver (B) Sender
(C)". “Channel (D) Entropy

15.%, One of the following is not an open source software :
(A) D’space (B) Windows
(C) Green-stone (D) Linux

16. DESIDOC is documentation centre for :
(A) Indigeneous Knowledge (B) Defence Science
(C) Rural Development (D) Khadi & Village Industries

J—5908 4



8. g Taeica Wl § RIS (Barcode) Th=ehl o1 FANT fohan STl €
(A) TRSEYSAE  (B) T §Ral (C)  3TeH YSH (D) H&Y Farl

9. Trfafed & @ wF O T 9 3%, (UK) 9 TR 2t @ :
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(C) forerd (D) TUCS AT T HigH

10. ‘®E ST’ (Fair use’) 78 17 & faw waifus yfe © :
(A) difge T SRR
(B) Tkl Sl JIehTeTd o oY U o forq o ST
(C) =hrdt WEE (Copy right)
(D) HH JEIRI T TN

11. fr=fafed § | o1 q@-g9ehe STJsHRAMER (pre-cordinate indexing) T IR T8 B T

(A) 4@l STIHATTH B) HHEY, TShHIVIHI

(
(C) TAHTHTE. (D) »THaRE e 3% Helsiere sfen

12. SofoH PRSI © :

D) Hh (MARC) 1 SR TR

13. ‘SR2 31 Q1 U SRSl T TR A R

(A) T (B) eThae (C) wTehe (D) 3W
14. ﬁﬂﬁqﬁqmwwm(communication system)ﬁwfaﬁ:lﬁ%l
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(C) o fore (D) Tl Tel UM &M
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17. Questionnaire is a :
(A) Research method (B) Measurement Technique
(C) Tool for data collection (D) All the above

18. Mean, Median and mode are :
(A) Measures of deviation (B) Ways of sampling

(C) Measures of control tendency (D) None of the above

19. ‘Cranfield Studies” are an example of :
(A) Survey Research (B) Experimental Research
(C) Historical Research (D) Case Study

20. Assertion (A) : As the level of recall increases, precision tends to decrease.
Reason (R) : Recall and precision tend to vary invefsely.
Codes :
(A) Both (A) and (R) are true

(B) (A) is true but (R) is false
(C) Both are partially true
(D) (R) is true but (A) is false

21. Assertion (A) : Operators using /AND?, ‘OR” and ‘NOT’ are mostly used in online IR.

Reason (R) : User inteffaces cannot transform the natural language input into
Booleanusearch Query

Codes :

(A) Both (A) and(R) are true
(B) (A) is true but (R) is false
(C©)  (R) is true but (A) is false
(D) Bothy(A) and (R) are false

22. { Assertion (A) : Maximization of the use of documents is the motto of the library.

Reason (R) : Maximization of the use of documents in the library satisfies the Fifth
Law of library Science.

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false
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17.

18.

19.

20.

21.

22.

yATerel S ® 2

(A) Y gt (B) WA Tk

(C) 3Tihe Hehetd 1 HIEH (D) IWI Gt

e, e SR s

(A) T |™ (B) Wfd==d & alteh
(C) vgfa fraek =1 @19 (D) Sude H 9 g T2l

‘ShThiee el foRdeht ST ¥ ¢
(A) G Y (B) VAN ¥M¥  (C) TUfdeides wig (D) hd &=l

AMRAT (A) :  SIY TR (recall) 1 TR & &1 FEHAT (precision)&i¥ Hedl T |

HIT (R) : AN IR Ferar faeim shn # su=aid 2ael

His:

(A) (A) 3R (R) SF ¥ 1

(B) (A) ¥ § T (R) 315

(C) < 3Tifereh 9 H 9T T

(D) (R) T &, W (A) 39A ¥

AMRAT (A) :  WEH (Operators), TE(AND), 3R (OR) 3R Afe (NOT) 1 TN ST
W 3T ARA E= (IR) H BT T

ROT (R) : wﬁmwﬁwwﬁmgﬁmﬁ (Boolean search)ﬁ“@ﬂ*_tfﬁﬁ:lﬁ
T Hohdl &

His:

(A) THI (A) 3R (R) FHA & |

(B) (A) ¥AE, ARAYR) 3THHA T

(C) (R) 9B, TIfh (A) 318 T

(D) i (A) R (R) 3189 1

JTRIT (A) : TR T T (motto) Tl ol Afeehad ITANT HTAT € |

IOT (R) : T § ol o Afushdd 3TN i gig ¥ J&ihed foagm & 9=
frem =1 g 3t B

Hig :

(A) THI (A) 3R (R) § ¥ |

(B) THI (A) 3R (R) 3T8HA T

Q) (A) FE T, T (R) 39 T

(D) (R) ¥ T, W (A) 38 T

J—5908 7 P.T.O.



23. Assertion (A) : User profile is an essential component of SDI service.
Reason (R) : SDI is a personalized current awareness service.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false
(C) Both are partially true
(D) (A) is true but (R) is false

24. Assertion (A) : AACR 2 like CCC can satisfy all approaches of theusers.
Reason (R) : Both AACR 2 and CCC are comprehensive cataloguing codes.
Codes :

(A) (A) is true but (R) is false

(B) (R) is true but (A) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

25. Assertion (A) : Document transfer/and information transfer are not the same.

Reason (R) : Assimillation of the eontent of the document by the user constitutes
information fgransfer.

Codes :
(A) (A)is true and (R) is false

(B) (R) is true but (A) isfalse
(C) Both (A).and (R)are true
(D) Both'(A) and (R) are false

26. Assertion (A) : ISO 9000 is a quality framework which calls for documentation to
adopt TQM in a Library.

Reason (R) : ISO 9000 is a valuable component of TQM
Codes :
(A) (A)is true and (R) is false

(B) (R) is true but (A) is false
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true



23.

24.

25.

26.

ARTHAT (A) :  TEELSTE (SDI) FaT 1 JoR WA (User profile) Tk Hewqul 9iT T
T (R) : TE.E1.3TE (SDI) AT I hifeish STHTEehd! 9T ¥ |

Hg

(A) THI (A) 3R (R) ¥ 1

(B) THI (A) 3R (R) 3T8H Tl

(C) < 3tiferes &9 H wed 1
(D) (A) ¥ 3, fehd (R) 319 g1

AMURT (A) : TLHLIR 2 oft HHH. i & WSkl 1 gt 1faHi (approaches)
gy # |

T (R) : TUHLAR. 2 T ... AT A9 YRR Feq & |

HiS:

(A) (A) 93 T, Afehd (R) 319 T

(B) (R) ¥ ¥, Wl (A) 318 T

(C) T (A) 3R (R) ¥ ¥ |

(D) THI (A) 3R (R) 318 Tl

AURIT (A) :  ToIE TEIUT SR GEAT SR S STRT- ST Bt ¢ |

HIT (R) : Shi GRT YeiE! o faroe o1 TR, a8 & Yot gl ¢ |

Hig :

(A) (A) 93 T, Afhd (R) AT

(B) (R) 9 ¥, AfR/(A) 318 T

(C) TH (A)&R (R) ¥ |

(D) TH (A).3R (R) 379 )

AMAHIT, (A) 1 FR.THAST. 9000 TH &9 @1 Bl &, e & forg, Foreehl e &
Torau & H 99, T (TQM) W 3 & e wam & ot €1

/T (R) : A FLTH (TQM) T 6. TE.3T. 9000 T T@ 317 Bl T |

HIS :

(A) (A) 99 B, T (R) 39 T

(B) (R) ¥ T, W (A) 38 T

(C) THI (A) 3R (R) 318 T

(

)
D) THi (A) 3R (R) T ¥
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27. Assertion (A) : Consortia cannot provide an effective strategy to increase the buying
power of individual libraries.

Reason (R) : Consortia arrangement saves the funds of the libraries in developing
their information sources.

Codes :
(A) (A) is false but (R) is true

(B) (A) is true but (R) is false
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

28. Arrange the following in the order of computer generations :
(i) Integrated circuit
(i) Transistor

(iii) Vacuum Tube

(iv) Chip

Codes :

(A) (v) (@) (D) (1)
(B) (i) (@) (v) (i)
© @) @) @) (@Qv)
(D) (i) (v) (1) ()

29. Match the following :
List-1 List-I1

(a) BLAISE project (i)  Library of congress
(b) MARC project (i) Intel
() Union Cataloguesproject (iii) Insdoc
(d) Microchip (iv) British Library
Codes :
(@) (O, (c) ()
(A) @) way @) @
(Byf M@, () () (iv)
Q) Gv) (@) () (i)
(D) (@) @) @ (v)

30. " Which is the correct logical sequence of the following :
(A) Information, knowledge, data, wisdom

(B) Knowledge, Information, wisdom, data
(C) Data, knowledge, information, wisdom
(D) Data, information, knowledge, wisdom
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27.

28.

29.

AMUFRYT (A) : AT TEIRTel i v Ul sgM o ol shiefan gerergu ot =&
M Y Gohell T |

HIUT (R) : SHITHITEAT e, TRkl o o Sl ol foshfad we | bt ffy
T =T BT

FHT:

(A) (A) 38H T, T (R) §A T

(B) (A) & B, T (R) 38 T

(C) (A) 3R (R) THI 76 Tl

(D) (A) 3R (R) i 7 T |

Frefafed 1 37 FFFR SAREM o SHAGUR A Hif |
(i) ST Hihe (Integrated circuit)

(i) gifee

(i
(

s

iii) éaqrr o

iv) f=q

HIS :
A)

@) @) @)
(i) (@v) ()
G) () (iv)
(iv) (D) ()

iv) (i) @

(A)  (iv)
(B) (i)
© O
(D) (i)
frefeafaa 1 faem & :
ger-1 ger-11
a) Wﬁ@ﬂ% @
) Tk W () 3@
c) HE g U (i
(
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31.

32.

33.

34.

35.

Subject indexing systems were developed in the order as :

(A) Chain indexing, Systematic indexing, PRECIS, COMPASS
(B) Systematic indexing, Chain indexing, PRECIS, COMPASS
(C) Systematic indexing, PRECIS, Chain indexing, COMPASS
(D) Systematic indexing, COMPASS, Chain indexing, PRECIS

Arrange the following associations in the order of year of establishment :
(A) SIS, IASLIC, IATLIS, ILA
(B) IASLIC, ILA, SIS, IATLIS
(C) ILA, SIS, IASLIC, IATLIS
(D) ILA, IASLIC, IATLIS, SIS

Arrange the following Act according to year of enactment :

(A) Copyright Act, The patent Act, information Tech. Act, TPR Act
(B) The patent Act, copyright Act, information Techy Act, IPR Act
(C) Copyright Act, IPR Act, The patent Act, information Tech. Act
(D) Copyright Act, The patent Act, IPR Agct, information Tech. Act

Arrange different codes according t0 year of origin :

(A) Anthony Pannizi code, cutter’s rules for dictionary catalogue, classified catalogue
code, Anglo American cat. Rules-II

(B) Anthony Pannizi code, classified catalogue code, cutter’s rules of dictionary
catalogue, Anglo ‘American cat. Rules-II

(C) Anthony Panfiizi.code, Anglo American cat. Rules-II, classified catalogue code,
cutter’s rules for dictionary catalogue

(D) Anthony Pannizi code, cutter’s rules of dictionary catalogue Anglo American
cat. Rules-II classified catalogue code

Arfange the following according to the year of publication :

(A) “Encyclopaedia Britannica, Encyclopaedia Americana Encyclopaedia of Library
& information science, McGraw-Hill Encyclopedia of science & Technology

(B) Encyclopaedia Britannica, Encyclopaedia of Library & information science,
McGraw-Hill Encyclopaedia of science & Technology, Encyclopaedia Americana

(C) Encyclopaedia Britannica, Encyclopaedia Americana, McGraw-Hill
Encyclopaedia of Science & Technology Encyclopaedia of Library & Information
science

(D) Encyclopaedia Britannica, McGraw-Hill Encyclopedia of science & Technology,
Encyclopaedia Americana Encyclopaedia of Library & information science
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31.

32.

33.

34.

35.

fororar etgshmfuTeRT fgdt =l fashra aRfshan a0 & oTgER fafEw :
(A)  gEen AThATR, Fafad stqswaforn, G, ™
(B) Trafia sgshnftreh], g@en sTIshafrr], TS, FHIE
(C) Trafia STIsnfumRI, UHiS], J@a STIRHTIGR], HHIH
(D) frafia STsRATUTRI, TN, FE@eT STIHATUGR, THS

T | ol T IUIER o g i ;
(A) HH, sefcrs, smgefay, E.TaT
(B) sTEfceh, TR.TAT, HH, stgeferd
(C) SME.UA.T, U, s, sngefad
(D) STR.UA.T,, s, sTeefad, 99

frAfafea sifufm fafeor we-wager sa

(A) HUREES TR, Yo TR, TRRHYM SHIalS T, el 3. T
(B) U= TH, hHURIEE T, TTRRHYH SHICIS TR, L. I.3R. THR
(C) HUREE TR, TR, W3R, Tae, Yo Uae, SThIRHYM, SaHicTSi Tae
(D) hIdt T2 TR, U TR, 7%, U 3TR. o, (ShIGHR caelals Tae

forfist et shrEl i el HATTER e &hifag :

(A) 3T TS hle, et o R TEHRIT] e, hHelHEEe HR hie, Tl

AR R TTd-11

(B) 3T YIS I, HAMHIHRISS R i, HH Tol ®BR FeRI{ Heem, Tl

SRR HTeTiT B 11

(C) 3Tt UHIST hie, =Tl STHRER Rl Tg-—1I, HTHIRES hART IS, FHH

T TR fearaadl hdemt

(D) 3T UHISH ohie, held T R feaaTi helalll, TRTal STHRERT kel Terg-1I,

FHABIE S, HATT HIS

Trafafad sl SR aR g 8 § ford -

(A) sHRERaufean faefte, somantifea AR, sRafufean E daEel e

THRUYH HE-H, AU Tgaiiuted 3t HE~d TUe SaHalrsi

(B) sHEETUted faefe, sEaAdied A% e TS SThRAYH 95, Hilfea

(C) warFatutean faefe, sameaifufean, smftem, Tmfea saEaifafean sitw aEa

TUS SIS, SIS 3% TSR] TIS ShIRHYH d5d

(D) sTEaTarean forefem, Fnfea sHaaiSdl S1h Ws-H TUS oISl Sargaaarsan

STHREHMI, THEFATIISAT 3Th TSR TS SThRHYH HE~d
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36. Match the following :

List-1 List-11
(a) Conventional (i) Patents
(b) Neo-conventional (ii) Printed Books
(c) Non-conventional (iii) Satellite imageries
(d) Meta documents (iv) Audio-visual material
Codes :
(@ @® () @
(A) @ @) @) (@)
(B) @) @ Gv) (i)
© Gv) @ (@) ()
(D) @) @) @) (v)
37. Match the following :
List-1 List-IT
(a) Library is a people’s University (i) Kothari
(b) Library is a growing organisation (i) yUrquart
(c) Library can be useful to society (i) 4 Ramganathan
(d) Library is the heart of the
University (iv) Sayajirao Gayakwad
Codes :
(@ ® (© (@
A) (v) @) @ @)
® ) O ) )
© (i) (G(v) (i) 6
(D) Gv) ) ()" i)
38. Match the following :
List=I List-11
(a) PiWassermann (i) Line of thinking
(b)a,. Po Atherton (i) Foundation of Education for
Librarianship
(c)™ J.H. Shera (iii) New Librarianship
(d) Maurice B. Line (iv) Putting knowledge to work
Codes :
(@ @® (o (@
A) () @ @) @)
B () @ @) ()
© (v ) 0 )
D) i) (v) @) 0
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36.

37.

38.

Freferfed S=i-1h Aai w1 g=i-11 A1 9 faersd

get-1
)  URUIRE
b) & URUR

~_~ o~ o~ —~
(@)
~

(@) (b)) (o)

()
(i)
(ii)
(

iv)

(d)
(iv)
(ii)
(i)
(iv)

geEr-11

T
BIEGRETIC]
Hemge gHsHI

TF AT WA

Frefafed g=i-1F 9-1 =l g=A-11 & A7) § e

geE-1

(@ ) (o
A) (@v) (i) (i)
v) (i) (iii)
ii) (iv) (iii)
(i) (

iv) ( i)

i
i ii)

(
(
(

JEIehRIeTT WSl fovafasme™ §
J&AehTe U foehramiier Seen

) TR U hl SUIH & Tehll §
d) T favafaee™ & & §

(d)
()
(i)
)
(i

1ii)

qE-11
i) # N ISHEL
i) / eTehere
iif) A

(
(
(
A REISINERIZETISS

Frefafed g1 < 9-1 1 F=-11 & 71 § fia

-1

a) Ul SREHEA

(i)
(i)
(iii)
(iv)
(d)
(iv)

iv)

15

geE-11

A AR ffeh

ST AF TR HR AR
EQSICEIRC RN

gfém et g o

P.T.O.



39. Match the following :

List-1 List-1I
(@) Theory of X &Y (i)  Frederic Taylor
(b)  Scientific management (i) Ouchi
() Need hierarchy (iii) A. Maslow
(d) Theory Z (iv) D. Mc Grager
Codes :

(@ b (o (@
(A) @) @) @ ()
(B) Gv) (@) @) @
© @ O @v) (i)
(D) @(v) (@) () ()

40. Match the following :

List-1 List-11
(a) uUDC (i) H.E.Bliss
(b) DDC (i) C.A.Cutter
(c) Expansive classification (iii)y Otlat.and La Fontane
(d) Bibliographic classification (iv). M. Dewey
Codes :

(@ b () (@
A) @) O @ W
B (i) (v @) 0
© i) () () 0
O) () @) G v

41. Match the following, :

List-1 List-11
(a)  British Library (i) Russia
(b)". “Bibliotheque National (i) USA
(€)n. "Lenin Library (iii) UK
(d) Library of Congress (iv) France
Codes :

(@ (b (o (@
(A) (v) () @) ()
B) (@) @) @) ()
©) @) (@Gv) @) ()
(D) (i) (v) () @)

J—5908 16
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Thefleh o

S3f=

T, AR

2l R

geE-11

T fsTq

H Y T

3itecte’ 3R o Wi

~ ~ ~4 —~ —~
A~~~ e A~ —~~
A~~~ e o= ~ o= —_
— R R o= — R R o — — —
= O O = O =

A <

N — — ~—~ ~—~ N N '

Frefafed g=-1F 9-i o1 F=-11 & 71 § fia
(d)
iv)
i)
11
Frefafed g=i-1F 9-1 =l g=A-11 & A7) § e

39.
40.
41

P.T.O.
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42.

43.

44.

Match the following :
List-1

(a) Windows

(b) Microprocessor

(c) Wordprocessor

(d) Software

Codes :
(@ () (o
(A) @) @ @)
(B) @) @) @
(© G) () (iv)
(D) @) () (i)
Match the following :
List-1
(Library Act)
(a) Orissa
(b) Goa
(c) Uttaranchal
(d) Uttar Pradesh
Codes :
(@ @® (o
(A) (@) @) (i)
(B) (i) (iv) (ii)
(©)  Gv) (i) (i)
(D) (@) @@ (@)

Match the‘following :
List-1

(@)@, Software

(b) “\Hardware

(c) ““Storage Device

(d) 1I/0 Device

Codes :

ClEEE

J—5908
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List-11
A revolving disc on which data is stored
It is used for processing of text

Collection of programmes for computer
system

A graphical user interface working as
Dos

List-11

(Year of Enactment)
2006

2005

2001

1994

List-11
Key board
CD

SOUL
CPU



fafen & i 1 9=
iv) UfReRa IoR ThT afhT 39 2|

11
<21 wufed fewh =1 ga
I 1T o fogetsor o fag

FHope

i

)
ii)
1

(i
(
Gi
(

1

( fatfirenvur awf)

geE-11

geE-11
Al

)

1
1

it
iv) ELdg

(1)
(i)
(iii
(

o~~~ o~

P.T.O.
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ger-1
( T e )
c)
11
i)
ii)
11

N — — ~—~ ~—

Frefafed g=-1F 9-i o1 F=-11 & 71 § fia
(d)
(iii)
(iv
(i)
(iv)
Frefafed g=-1F 9-i 1 -1 & 71 § fia
(d)
iv)
i)
i)
iv)
Frefafea F=-1 98 1 F=-11 & 71 § fia

42
43.
44
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45.

46.

Match the following :

List-1 List-11
(a) Planning (i) Delegation of authority
(b) Staffing (i) Audit
(c) Control (iii) Promotion
( (

d) Organising iv) Resource management

Codes :

(@ (b)) (© (@)
(A) (@) @) @) (iv)
B) @) @v) @ ()
Q) () @ @) ()
(D) (@v) (D) (G) ()

Read the passage given below, and answer the question based on your understanding
of the passage :

To survive, thrive and beat the competition in today’s brutally competitive world,
one has to manage the future. Managing the future means managing the information.
In order to manage the information, in order o deliverhigh quality information to the
decision makers at the right time, in order to automate the process of data collection,
collation and refinement, organizations/have to,make Information Technology (IT) an
ally, harness its full potential and userit in the best way possible.

We have seen that in today’s competitive business environment, the key resource
of every organization is information. If the organization does not have an efficient and
effective mechanism that enables/t to,give the decision-makers the right information at
the right time, then the chances 'of that organization succeeding in the next millennium
are very remote.

The three fundamental characteristics of information are accuracy, relevancy and
timeliness. The information has to be accurate, it must be relevant for the decision-
maker and it must be available to the decision-maker when he needs it. Any organization
that has the mechanism to collect, collate, analyse and present high quality information
to its employees, 'thus enabling them to make better decisions, will always be one step
ahead©fithe competition. Today, the time available for an organization to react to the
changing market trends is very short. To survive, the organization must always be on
its toesy gathering and analysing the data-both internal and external. Any mechanism
that will automate this information gathering and analysis process will enhance the
chances of the organization to beat the competition.

Which factors force organisation to use IT to harness information ?

(A) Explosion of sources of information

(B) Availability of latest information on real time basis

(C) Time, volume and complex nature of information on real time basis
(

D) Information needs of users are inter-disciplinary in nature

J—5908 20



45.

46.

Frefafed g=-1F 9-i o1 F=-11 & 71 § fia

-1 geEr-11
(a) TS (i)  ATHHR YA
(b) TS HEEA (i) Tieon
(c) fresm (i) wEEf
(d) HTeH (iv) HIEA Yo
FIT

(@ @) (© @
(A) @ (D) () (i)
(B) @) (@Gv) @ (i)
Q) @) @) @) ()
(D) (v) () @) (D)

T4 3 72 ufesq &1 fed, 31T uResq @i 1a+i THeT & et U¥ 9o+l & 3ov qiferd |

3TITehe o TigaraTyul gfqeasicren foea & Sifaa T, w9 2R TfRETar s qfsr s
% for, =afea ol ufos st sTaEen wE USdt § 1 i 1 Te-e heA st 1ef SR i Yo
HET §1 MR 6l G Hid o o, Foigammeti. @l 98 979 W S= Sl Sl SR
U A o {7, 3iehs Tl Heheld U IREHLUT i HichHl, sl WTferd i o ford, diai
1 =1 YreifiTent a1 st o vean ©, 36kt Wl SiqRifert st R § ST gedl § SR 39 W
gruifad 48 €1 ¥ SN AT IS |

B 3@ § TR Tl & wfaegeicnss SR aTdieR |, Yoie e 1 g&T G
SR € | AfS TS o I Fe™ T gHqiagut ant=rent (foranfafy) =2 & < fop 39, fofaeramsii
= & T W Gl TR o4 & GG, 1 ST T & ford 3ol Teersa) § 9hd B
o STIER g L& B I & |

SR St I e Ta9maR © - Jeefdl, EfTehal R TeT-Amfaehar | STHhRT
IRRL5 (Fened) BT Hifed, ae fvf=ern & ford wrEfimes et =nfed ik S& =g fofaam =i sed
B W Y IUeTsd BT Alied] HrE o Tied, ek I SHeRI &1 Uahiad, aRger, fawersm
FH 31 T HHAET 1 3 IS T STHHRT < 6 Aifoehl § S HH=RET Bl S8R 0=
O H T&H SR, T o SIS SHYN GRAldl o Teh haH SN B |

SISETST & U, 5ot gg SISk Ugraai < i gfafshan 3 o fo siga &9 979
IS, T, WIS I, Sifed (feoh) WA & ford, etiafier ofR st ofiehs Uanfa o favermor &
B, THIN A1y & TSl €1 e off Fif=rhl St SR Hehel Uel faveroor o6t yfshan i
T At §, a8 HTaRfTdT <hl WRIfSId o o TS o STaERl bl serdt ¢ |

SHITY TR FTS ol SFHRT M H o o ford 318,21, 1 ST L o fordl ISTe HLd © -
(A) STHHRT % Sl hl TERA

(B) JeAATcHe SR T T SRR shi STCTeRIdl

(C) aTEdfash THY YR W SHHRI 1 THY, ST AHT IR Sifea Fapfd

(D) UK Sl BRI TFE ST sTat-fawae 2t €|
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47. Major obstacle in taking accurate futuristic decisions is :
(A) availability of more information
(B) cut-throat competion
(C) Everchanging socio-economic and political situations
(

D) Globalisation

48. Which is the most appropriate tool to make better use of information ?
(A) Well qualified and experienced information professional
(B) Depth classification and indexing
(C) Experts in domain knowledge
(

D) Information technology

49. What is the critical characteristic of information delivery system for making its use
effective ?

(A) Efficient channels of communication system:
(B) Ability to develop appropriate information products
(C) Right information, delivered at right time

(D) Developing quality photecopying and fax facility

50. What is the crucial decision foman organisation to take to beat the competition ?

(A) To create a mechanism to access, organise and process information within an
organisation

(B) To establish ageparate department for acquiring and processing information
(C) To,strengthen the libraries already existing in the organisation

(D)n, To collaborate with university and national and international information systems.

-00o0-
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47.

48.

49.

50.

&I ufers wergl o o 8 e e |
(A) ST SRR hl SUeTsHd!

(B) TTeTreRte gfceqwt

(C) U< SEardt IS, 3Tfeieh iR Tsmfaes feefaar |

(D) ST

SFSRI T IER STANT A & o1 Faiferh STF STHIU i A 2
A) G-I YT SR ST AR TSR =fead

e afTeho] TR STIHHTRI

fowa &= o 9§ forew

T iRt

B

~—"

(
(
©
(D)
SHeR] STEH-YRM Ot i shid H Feiafeden fomog) 88 SUa Sl THEUl ST § 2
(A) HEIYU YUMCH o H&H =

(B) SUIH SN 3curg forepfid st shl AN

(C) U HHI T HEl SR o1 STGH-TaH

(D) 93 WUl e e G feemfd |

yfaeas w1 qfsid sgeh. ford e & fordr stew: faoig o= 272
(A) TS % 3T SRR H! TS, SU WS U HEed i i fpanfafes e &)
(B) SR S IR HHIfed it o1 georsh favmT wenfiya e |

(C) T § Teel § & faeme Tehrerdl ol gg il |

(D) wfaafaeme sk T $iR SIqRiTH SRt Jonfasi & T1e §eanT |

-00o0-
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